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ENGLISCH HORVERSTEHEN

WICHTIG:

In diesem Horverstehen horen Sie die Aufgaben A bis C je zweimal.

A (8 POINTS)

Look at the notes below. Listen to the messages and monologues.

Fill in the missing information.

An answering machine message

Person being called

Mr Anderson

Caller's company

What will be delayed

New delivery date

Caller's e-mail address

A seminar introduction

Seminar topic

Auto Insurance

Ms Gregory’s function

Ms Gregory’s mobile number

MrJansen’s speech topic

New room number for workshop

Punkte
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Punkte

B (5 POINTS)

The journalist Jane Saunders is asking the CEO of Northwest Airlines, Doug Steenland,
about the merger of his airlines with Delta Airlines. You will now listen to a conversation.
For each question mark the correct answer (A, B or C). Tick one answer only.

1. Northwest Airlines and Delta Airlines
will be one company
A [byJanuary 1st.
B Llin a quarter.
C [ when the time is right.

4. On the stock market Northwest stock
A [Jwent up by 15.2% despite the oil prices.
B [ decreased in value by $0.54.
C [fellin value because of the oil prices.

2. Both airlines
A [ got information from the government.
B [ were requested for information
by the government.

C [ satisfied all the demands of the president.

5. The biggest problems in airline mergers
A [are to challenge the pilots.
B [ are with the various labour unions.
C [ are having labour agreements
for four years.

3. Northwest Airlines
A [ had health costs of $170 million.
B [lost $170 million in money charges.
C [ earned $170 million.

TASK C
(7 POINTS)

Peter, who is reading a newspaper, is telling his friend, Sue, about some new applications
for an iphone. Listen and answer the questions. Please use keywords.

1.  Why would you forget it was a phone?

2. How much does quite pricey mean?

3. How does ‘Box Office’ locate the cinemas?

4. Which application tells you all about
the local facilities?

5.  Which places are worried about
a bad reputation?

6.  What are the photos in the health
application used for?

7.  What do the video clips show in sports?







